# IDENTITIES AND RELATIONS ON THE HERMITE-BASED TANGENT POLYNOMIALS 

B. KURT, §

Abstract. In this note, we introduce and investigate the Hermite-based Tangent numbers and polynomials, Hermite-based modified degenerate-Tangent polynomials, polyTangent polynomials. We give some identities and relations for these polynomials.

Keywords: Bernoulli polynomials and numbers, Stirling numbers of the second kind, Tangent polynomials and numbers, polylogarithm function, Degenerate Bernoulli and Genocchi polynomials.

AMS Subject Classification: 11B75, 11B68, 11B83, 33E30, 33F99

## 1. Introduction

Many mathematicians have studied in the area of the Bernoulli numbers and polynomials, Euler number and polynomials, Genocchi numbers and polynomials, poly-Bernoulli numbers and polynomials, poly-Euler numbers and polynomials, poly-Genocchi numbers and polynomials, poly-Tangent numbers and polynomials, Hermite polynomials, Hermitebased Bernoulli polynomials, Hermite-based Tangent polynomials, modified degenerate Bernoulli polynomials, modified degenerate Euler polynomials and modified degenerate Genocchi polynomials (see [1]-[20]). In this note we define the Hermite-based tangent polynomials, modified Hermite-based tangent polynomials and poly-tangent polynomials. We obtain some relations and identities for these polynomials. Throughout this paper, we always make use of the following notations: $\mathbb{N}$ denotes the set of natural numbers and $\mathbb{Z}_{+}=\mathbb{N} \cup\{0\}$. We recall that the classical Stirling numbers of the first kind $S_{1}(n, k)$ and second kind $S_{2}(n, k)$ are defined by the relations [15]

$$
\begin{equation*}
(x)_{n}=\sum_{k=0}^{n} S_{1}(n, k) x^{k} \quad \text { and } \quad x^{n}=\sum_{k=0}^{n} S_{2}(n, k)(x)_{k} \tag{1}
\end{equation*}
$$

respectively. Here, $(x)_{n}=x(x-1) \cdots(x-n+1)$ denotes the falling factorial polynomial of order $n$. The number $S_{2}(n, m)$ also admits a representation in terms of a generating function

$$
\begin{equation*}
\frac{\left(e^{t}-1\right)^{m}}{m!}=\sum_{n=m}^{\infty} S_{2}(n, m) \frac{t^{n}}{n!} . \tag{2}
\end{equation*}
$$

[^0]The Bernoulli polynomials $B_{n}^{(r)}(x)$ of order $\alpha$, the Euler polynomials $E_{n}^{(r)}(x ; \lambda)$ of order $\alpha$ and the Genocchi polynomials $G_{n}^{(r)}(x ; \lambda)$ of order $\alpha$ are defined as respectively:

$$
\begin{align*}
& \left(\frac{t}{e^{t}-1}\right)^{r} e^{x t}=\sum_{n=0}^{\infty} B_{n}^{(r)}(x) \frac{t^{n}}{n!},|t|<2 \pi  \tag{3}\\
& \left(\frac{2}{e^{t}+1}\right)^{r} e^{x t}=\sum_{n=0}^{\infty} E_{n}^{(r)}(x) \frac{t^{n}}{n!},|t|<\pi \tag{4}
\end{align*}
$$

and

$$
\begin{equation*}
\left(\frac{2 t}{e^{t}+1}\right)^{r} e^{x t}=\sum_{n=0}^{\infty} G_{n}^{(r)}(x) \frac{t^{n}}{n!},|t|<\pi . \tag{5}
\end{equation*}
$$

When $x=0, B_{n}^{(r)}(0)=B_{n}^{(r)}, E_{n}^{(r)}(0)=E_{n}^{(r)}$ and $G_{n}^{(r)}(0)=G_{n}^{(r)}$ are called Bernoulli numbers of order $r$, Euler numbers of order $r$ and Genocchi numbers of order $r$, respectively.

The familiar tangent polynomials $T_{n}^{(r)}(x)$ of order $r$ are defined by the generating functions ([12]-[15], [17])

$$
\begin{equation*}
\left(\frac{2}{e^{2 t}+1}\right)^{r} e^{x t}=\sum_{n=0}^{\infty} T_{n}^{(r)}(x) \frac{t^{n}}{n!},|2 t|<\pi . \tag{6}
\end{equation*}
$$

When $x=0, T_{n}^{(r)}(0)=T_{n}^{(r)}$ are called the tangent numbers.
2 -variable Hermite-Kampéde Fériet polynomials are defined in ([5], [11]) as

$$
\begin{equation*}
\sum_{n=0}^{\infty} H_{n}(x, y) \frac{t^{n}}{n!}=e^{x t+y t^{2}} \tag{7}
\end{equation*}
$$

Khan et al. in [5] defined and studied on Hermite-based Bernoulli polynomials and Hermite-based Euler polynomials as

$$
\begin{equation*}
\sum_{n=0}^{\infty}{ }_{H} \mathcal{B}_{n}(x, y) \frac{t^{n}}{n!}=\frac{t}{e^{t}-1} e^{x t+y t^{2}},|t|<2 \pi \tag{8}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{n=0}^{\infty}{ }_{H} \mathcal{E}_{n}(x, y) \frac{t^{n}}{n!}=\frac{2}{e^{t}+1} e^{x t+y t^{2}},|t|<\pi, \tag{9}
\end{equation*}
$$

respectively.
Carlitz in [1] defined degenerate Bernoulli polynomials which are given by the generating function to be

$$
\begin{equation*}
\frac{t}{(1+\lambda t)^{1 / \lambda}-1}(1+\lambda t)^{x / \lambda}=\sum_{n=0}^{\infty} \mathfrak{B}_{n}(x \mid \lambda) \frac{t^{n}}{n!} . \tag{10}
\end{equation*}
$$

When $x=0, \mathfrak{B}_{n}(\lambda)=\mathfrak{B}_{n}(0 \mid \lambda)$ are called the degenerate Bernoulli numbers.
From (41), we can easily derive the following equation

$$
\mathfrak{B}_{n}(x \mid \lambda)=\sum_{l=0}^{n}\binom{n}{l} \mathfrak{B}_{n-l}(\lambda)(x \mid \lambda)_{l}, n \geq 0
$$

where $(x \mid \lambda)_{n}=x(x-\lambda) \cdots(x-\lambda(n-1))$ and $(x \mid \lambda)_{n}=1$.

Dolgy et. al. [2] defined the modified degenerate Bernoulli polynomials, which are different from Carlitz's degenerate Bernoulli polynomials as

$$
\begin{equation*}
\frac{t}{(1+\lambda)^{t / \lambda}-1}(1+\lambda)^{x t / \lambda}=\sum_{n=0}^{\infty} \mathfrak{B}_{n, \lambda}(x) \frac{t^{n}}{n!} . \tag{11}
\end{equation*}
$$

When $x=0, \mathfrak{B}_{n, \lambda}=\mathfrak{B}_{n, \lambda}(0)$ are called the modified degenerate Bernoulli numbers. From (42) we note that

$$
\begin{align*}
\lim _{\lambda \rightarrow 0} \sum_{n=0}^{\infty} \mathfrak{B}_{n, \lambda}(x) \frac{t^{n}}{n!} & =\lim _{\lambda \rightarrow 0} \frac{t}{(1+\lambda)^{t / \lambda}-1}(1+\lambda)^{x t / \lambda} \\
& =\frac{t}{e^{t}-1} e^{x t}=\sum_{n=0}^{\infty} B_{n}(x) \frac{t^{n}}{n!} \tag{12}
\end{align*}
$$

Thus, by (43)

$$
\lim _{\lambda \rightarrow 0} \mathfrak{B}_{n, \lambda}(x)=B_{n}(x)
$$

H.-In Known et. al. [8] defined the modified degenerate Euler polynomials as

$$
\begin{equation*}
\frac{2}{(1+\lambda)^{t / \lambda}+1}(1+\lambda)^{x t / \lambda}=\sum_{n=0}^{\infty} \mathfrak{E}_{n, \lambda}(x) \frac{t^{n}}{n!} \tag{13}
\end{equation*}
$$

and T. Kim et. al. in [6] defined the modified degenerate Genocchi polynomials as

$$
\begin{equation*}
\frac{2 t}{(1+\lambda)^{t / \lambda}+1}(1+\lambda)^{t x / \lambda}=\sum_{n=0}^{\infty} \mathfrak{G}_{n, \lambda}(x) \frac{t^{n}}{n!} . \tag{14}
\end{equation*}
$$

From (44) and (45), we get

$$
\lim _{\lambda \rightarrow 0} \mathfrak{E}_{n, \lambda}(x)=E_{n}(x), \lim _{\lambda \rightarrow 0} \mathfrak{G}_{n, \lambda}(x)=G_{n}(x)
$$

For $k \in \mathbb{Z}, k>1$, then $k$-th polylogarithm is defined by Kaneko [4] as

$$
\begin{equation*}
L_{i_{k}}(z)=\sum_{n=1}^{\infty} \frac{z^{n}}{n^{k}} \tag{15}
\end{equation*}
$$

Thus this function is convergent for $|z|<1$, when $k=1$

$$
\begin{equation*}
L_{i_{1}}(z)=-\log (1-z) \tag{16}
\end{equation*}
$$

Kim et. al. in [7] defined the poly-Bernoulli polynomials and the poly-Genocchi polynomials as

$$
\begin{equation*}
\sum_{n=0}^{\infty} \mathfrak{B}_{n}^{(k)}(x) \frac{t^{n}}{n!}=\frac{L_{i_{k}}\left(1-e^{-t}\right)}{1-e^{-t}} e^{x t} \tag{17}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{n=0}^{\infty} \mathfrak{G}_{n}^{(k)}(x) \frac{t^{n}}{n!}=\frac{2 L_{i_{k}}\left(1-e^{-t}\right)}{e^{t}+1} e^{x t} \tag{18}
\end{equation*}
$$

respectively.
For $k=1$, by use (47) in (48) and (49), we get

$$
\mathfrak{B}_{n}^{(1)}(x)=(-1)^{n+1} B_{n}(x), \mathfrak{G}_{n}^{(1)}(x)=G_{n}(x)
$$

Hamahata [3] defined poly-Euler polynomials by

$$
\sum_{n=0}^{\infty} \mathfrak{E}_{n}^{(k)}(x) \frac{t^{n}}{n!}=\frac{2 L_{i_{k}}\left(1-e^{-t}\right)}{t\left(e^{t}+1\right)} e^{x t}
$$

For $k=1$, we get $\mathfrak{E}_{n}^{(1)}(x)=E_{n}(x)$.
From (37), we obtain the following equalities easily

$$
\begin{aligned}
T_{n}^{(r)}(x) & =\sum_{k=0}^{n}\binom{n}{k} T_{k}^{(r)} x^{n-k}, \\
T_{n}^{(r)}(x+y) & =\sum_{l=0}^{k}\binom{k}{l} T_{k}^{(r)}(x) y^{k-l}, \\
T_{n}^{\left(r_{1}+r_{2}\right)}(x+y) & =\sum_{k=0}^{n}\binom{n}{k} T_{k}^{\left(r_{1}\right)}(x) T_{n-k}^{\left(r_{2}\right)}(y)
\end{aligned}
$$

and

$$
T_{n}^{(r)}(2(x+1))=2 T_{n}^{(r-1)}(2 x)
$$

## 2. Hermite Based Tangent Polynomials

Khan et. al. in [5] and Ozarslan [11] introduced and investigated the Hermite-based Bernoulli polynomials and Hermite-based Euler polynomials. They proved some identities and relations for these polynomials.

By this motivation, we define Hermite-based Tangent polynomials of order $r$ as

$$
\begin{equation*}
\sum_{n=0}^{\infty}{ }_{H} T_{n}^{(r)}(x, y) \frac{t^{n}}{n!}=\left(\frac{2}{e^{2 t}+1}\right)^{r} e^{x t+y t^{2}} \tag{19}
\end{equation*}
$$

Theorem 2.1. Let $r_{1}, r_{2} \in \mathbb{Z}_{+}$. We have

$$
\begin{aligned}
H T_{n}^{(r)}(x, y) & =\sum_{k=0}^{n}\binom{n}{k} T_{k}^{(r)}(0,0) H_{n-k}(x, y), \\
H_{H} T_{n}^{(r)}(x+u, y+v) & =\sum_{k=0}^{n}\binom{n}{k}{ }_{H} T_{k}^{(r)}(x, y) H_{n-k}(u, v)
\end{aligned}
$$

and

$$
{ }_{H} T_{n}^{\left(r_{1}+r_{2}\right)}(x+u, y+v)=\sum_{k=0}^{n}\binom{n}{k}{ }_{H} T_{k}^{\left(r_{1}\right)}(x, y)_{H} T_{n-k}^{\left(r_{2}\right)}(u, v)
$$

Theorem 2.2. Let $r \in \mathbb{Z}_{+}$. Then we obtain

$$
{ }_{H} T_{n}^{(r)}(2(x+u), 2(y+v))=\sum_{m=0}^{n}\binom{n}{m}{ }_{H} T_{n-m}^{(r)}(x, y) \sum_{p=0}^{m}\binom{m}{p} H_{p}(x, y) H_{m-p}(x, y)
$$

Theorem 2.3. There is the following implicit relation for the Hermite-based Tangent polynomials as

$$
\begin{equation*}
{ }_{H} T_{n+m}^{(r)}(u, v)=\sum_{p=0}^{n}\binom{n}{p} \sum_{q=0}^{m}\binom{m}{q}(v-y)^{p+q}{ }_{H} T_{n+m-p-q}^{(r)}(x, y) \tag{20}
\end{equation*}
$$

Proof. From (50), we replace $t$ by $t+u$ and rewrite the generating function as

$$
\frac{2 e^{y(t+u)^{2}}}{e^{2 t}+1}=e^{-x(t+u)} \sum_{n=0}^{\infty} T_{n+m}^{(r)}(x, y) \frac{t^{n}}{n!} \frac{u^{m}}{m!}
$$

Replacing $x$ by $v$ in the above equation to the above equation, we get

$$
\sum_{n, m=0}^{\infty} H_{n+m}^{(r)}(v, y) \frac{t^{n}}{n!} \frac{u^{m}}{m!}=e^{(t+u)(v-x)} \sum_{n, m=0}^{\infty}{ }_{H} T_{n+m}^{(r)}(x, y) \frac{t^{n}}{n!} \frac{u^{m}}{m!}
$$

which on using formula [19, Srivastava p. 52]

$$
\begin{equation*}
\sum_{N=0}^{\infty} f(N) \frac{(x+y)^{N}}{N!}=\sum_{n, m=0}^{\infty} f(n+m) \frac{x^{n}}{n!} \frac{y^{m}}{m!} \tag{21}
\end{equation*}
$$

The right hand side on (52) becomes

$$
\begin{aligned}
& \sum_{p=0}^{\infty} \sum_{q=0}^{\infty}(v-x)^{p+q} \frac{t^{p}}{p!} \frac{u^{q}}{q!} \sum_{n=0}^{\infty} \sum_{m=0}^{\infty}{ }_{H} T_{n+m}^{(r)}(x, y) \frac{t^{n}}{n!} \frac{u^{m}}{m!} \\
= & \sum_{n, m=0}^{\infty}{ }_{H} T_{n+m}^{(r)}(v, y) \frac{t^{n}}{n!} \frac{u^{m}}{m!} .
\end{aligned}
$$

By using Cauchy product and comparing the coefficients of both sides, we have (51).
Theorem 2.4. There is the following relation between the Hermite-based Tangent polynomials and the Hermite-based Bernoulli polynomials as

$$
\begin{equation*}
H^{\mathfrak{B}_{n}^{(r)}}\left(\frac{x+u}{4}, \frac{y+v}{16}\right)=2^{r-n-k} \sum_{k=0}^{n}\binom{n}{k}{ }_{H} T_{k}^{(r)}(x, y)_{H} \mathfrak{B}_{n-k}^{(r)}\left(\frac{u}{2}, \frac{v}{4}\right) . \tag{22}
\end{equation*}
$$

Proof. From (50), we obtain

$$
\begin{aligned}
\sum_{n=0}^{\infty} H \mathfrak{B}_{n}^{(r)} & \left(\frac{x+u}{4}, \frac{y+v}{16}\right) \frac{(4 t)^{n}}{n!}=\left(\frac{2 \times 4 t}{e^{4 t}-1}\right)^{(r)} e^{(x+u) t+(y+v) t^{2}} \\
& =\left(\frac{2}{e^{2 t}+1}\right)^{(r)} e^{x t+y t^{2}} 2^{r}\left(\frac{2 t}{e^{2 t}-1}\right)^{(r)} e^{u t+v t^{2}} \\
& =\sum_{n=0}^{\infty} H_{n}^{(r)}(x, y) \frac{t^{n}}{n!} 2^{r} \sum_{q=0}^{\infty} H^{(r)}\left(\frac{u}{2}, \frac{v}{4}\right) \frac{(2 t)^{n}}{n!}
\end{aligned}
$$

By using Cauchy product and comparing the coefficients of both sides. We get (53).

## 3. Modified Degenerate Hermite-Based Tangent Polynomials

Dolgy et. al. [2] introduced and investigated the modified degenerate Bernoulli polynomials. Known et. al. [8] defined and investigated the modified degenerate Euler polynomials. They proved some properties for these polynomials.

By these motivations, we define 2-variable fully degenerate Hermite polynomials and the fully degenerate Hermite-based Tangent polynomials of order $r$

$$
\begin{equation*}
\sum_{n=0}^{\infty} H_{n}(x, y: \lambda) \frac{t^{n}}{n!}=(1+\lambda)^{\frac{x t+y t^{2}}{\lambda}} \tag{23}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{n=0}^{\infty} H T_{n}^{(r)}(x, y: \lambda) \frac{t^{n}}{n!}=\left(\frac{2}{(1+\lambda)^{\frac{2 t}{\lambda}}+1}\right)^{r}(1+\lambda)^{\frac{x t+y t^{2}}{\lambda}} \tag{24}
\end{equation*}
$$

respectively.

From (54) and (55), we get

$$
\lim _{\lambda \longrightarrow 0} H_{n}(x, y: \lambda)=H_{n}(x, y), \lim _{\lambda \longrightarrow 0} H_{n}^{(r)}(x, y: \lambda)={ }_{H} T_{n}^{(r)}(x, y)
$$

Similiary, we define the fully Hermite-based Bernoulli poynomials and the fully Hermitebased Euler polynomials as

$$
\begin{equation*}
\sum_{n=0}^{\infty} H \mathfrak{B}_{n}(x, y: \lambda) \frac{t^{n}}{n!}=\frac{t}{(1+\lambda)^{\frac{t}{\lambda}}-1}(1+\lambda)^{\frac{x t+y t^{2}}{\lambda}} \tag{25}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{n=0}^{\infty} H \mathfrak{E}_{n}(x, y: \lambda) \frac{t^{n}}{n!}=\frac{2}{(1+\lambda)^{\frac{t}{\lambda}}+1}(1+\lambda)^{\frac{x t+y t^{2}}{\lambda}} \tag{26}
\end{equation*}
$$

respectively.
From (55), we obtain the following relations easily

$$
\begin{gathered}
{ }_{H} T_{n}^{\left(r_{1}+r_{2}\right)}(x+u, y+v: \lambda)=\sum_{k=0}^{n}\binom{n}{k}{ }_{H} T_{k}^{\left(r_{1}\right)}(x, y: \lambda){ }_{H} T_{n-k}^{\left(r_{2}\right)}(u, v: \lambda) \\
{ }_{H} T_{n}^{(r)}(x, y: \lambda)=\sum_{k=0}^{n}\binom{n}{k}{ }_{H} T_{k}^{(r)}(0,0: \lambda) H_{n-k}(x, y: \lambda) \\
{ }_{H} T_{n}^{(r)}(x+2, y: \lambda)+{ }_{H} T_{n}^{(r)}(x, y: \lambda)=2{ }_{H} T_{n}^{(r-1)}(x, y: \lambda)
\end{gathered}
$$

for $r=1$,

$$
{ }_{H} T_{n}(x+2, y: \lambda)+{ }_{H} T_{n}(x, y: \lambda)=2 H_{n}(x, y: \lambda)
$$

and

$$
{ }_{H} T_{n}^{(r)}(x, y: \lambda)=\sum_{k=0}^{n}\binom{n}{k}{ }_{H} T_{n}^{(r)}\left(\frac{1}{2}, 0: \lambda\right) H_{n-k}\left(x-\frac{1}{2}, y: \lambda\right)
$$

Theorem 3.1. There is the following relation between the fully degenerate Bernoulli polynomials, the fully degenerate Euler polynomials and the fully degenerate Tangent polynomials as

$$
\begin{align*}
& H \mathfrak{B}_{n}(x, y: \lambda) 2^{2 n+1} \\
= & \sum_{q=0}^{n}\binom{n}{q}{ }_{H} T_{n-q}(x, y: \lambda) \sum_{k=0}^{q}\binom{q}{k}{ }_{H} \mathfrak{B}_{q-k}(x, y: \lambda) \\
& \cdot{ }_{H} \mathfrak{E}_{n}(2 x, 14 y: \lambda) . \tag{27}
\end{align*}
$$

Proof. From (56), (57) and (55), we write as

$$
\begin{aligned}
& \sum_{n=0}^{\infty} H^{\mathfrak{B}_{n}}(x, y: \lambda) \frac{(4 t)^{n}}{n!}=\left(\frac{4 t}{(1+\lambda)^{\frac{4 t}{\lambda}}-1}\right)(1+\lambda)^{\frac{4 t x+y(4 t)^{2}}{\lambda}} \\
= & \frac{1}{2} \frac{2 e^{\frac{x t+y t^{2}}{\lambda}}}{(1+\lambda)^{\frac{2 t}{\lambda}}+1} \frac{2 t e^{\frac{x t+y t^{2}}{\lambda}}}{(1+\lambda)^{\frac{t}{\lambda}}-1} \frac{2 e^{\frac{2 x t+14 y t^{2}}{\lambda}}}{(1+\lambda)^{\frac{t}{\lambda}}+1} \\
= & \frac{1}{2} \sum_{n=0}^{\infty} H T_{n}(x, y: \lambda) \frac{t^{n}}{n!} \sum_{p=0}^{\infty} H \mathfrak{B}_{p}(x, y: \lambda) \frac{t^{p}}{p!} \sum_{q=0}^{\infty} H \mathfrak{E}_{q}(2 x, 14 y: \lambda) \frac{t^{q}}{q!} .
\end{aligned}
$$

By using the Cauchy product and comparing the coefficient of $\frac{t^{n}}{n!}$, we have (58).

Theorem 3.2. $n \in \mathbb{Z}_{+}$, we have

$$
\begin{align*}
& { }_{H} T_{n}(x+2, y: \lambda)+{ }_{H} T_{n}(x, y: \lambda) \\
= & \frac{2}{n+1}\left\{{ }_{H} \mathfrak{B}_{n+1}(x+1, y: \lambda)-{ }_{H} \mathfrak{B}_{n+1}(x, y: \lambda)\right\} . \tag{28}
\end{align*}
$$

Proof. By (55)

$$
\begin{gathered}
\frac{2 t(1+\lambda)^{\frac{x t+y t^{2}}{\lambda}}}{(1+\lambda)^{\frac{2 t}{\lambda}}+1}\left[(1+\lambda)^{\frac{2 t}{\lambda}}+1\right]=\frac{2 t(1+\lambda)^{\frac{x t+y t^{2}}{\lambda}}}{(1+\lambda)^{\frac{t}{\lambda}}-1}\left[(1+\lambda)^{\frac{t}{\lambda}}-1\right] \\
\frac{2 t(1+\lambda)^{\frac{(x+2) t+y t^{2}}{\lambda}}}{(1+\lambda)^{\frac{2 t}{\lambda}}+1}+\frac{2 t(1+\lambda)^{\frac{x t+y t^{2}}{\lambda}}}{(1+\lambda)^{\frac{2 t}{\lambda}}+1}=\frac{2 t(1+\lambda)^{\frac{(x+1) t+y t^{2}}{\lambda}}}{(1+\lambda)^{\frac{t}{\lambda}}-1}-\frac{2 t(1+\lambda)^{\frac{x t+y t^{2}}{\lambda}}}{(1+\lambda)^{\frac{t}{\lambda}}-1} \\
\quad t \sum_{n=0}^{\infty}\left\{H_{H} T_{n}(x+2, y: \lambda)+{ }_{H} T_{n}(x, y: \lambda)\right\} \frac{t^{n}}{n!} \\
= \\
2 \sum_{n=0}^{\infty}\left\{{ }_{H} \mathfrak{B}_{n}(x+1, y: \lambda)-{ }_{H} \mathfrak{B}_{n}(x, y: \lambda)\right\} \frac{t^{n}}{n!} .
\end{gathered}
$$

From the above equality we have (59).

## 4. Poly-Tangent Polynomials

In this section, we define the poly-tangent numbers and polynomials and provide some of their relevant properties.

Definition 4.1. We define the Hermite-based poly-tangent polynomials by

$$
\begin{equation*}
\frac{2 L_{i_{k}}\left(1-e^{-t}\right)}{t\left(e^{2 t}+1\right)} e^{x t+y t^{2}}=\sum_{n=0}^{\infty}{ }_{H} \mathcal{T}_{n}^{(k)}(x, y) \frac{t^{n}}{n!}, \tag{29}
\end{equation*}
$$

when $x=0,{ }_{H} \mathcal{T}_{n}^{(k)}:={ }_{H} \mathcal{T}_{n}^{(k)}(0,0)$ are called the Hermite-based poly-tangent numbers.
For $k=1$ and $L_{i_{k}}(z)=-\log (1-z)$, from (60)

$$
\begin{equation*}
\frac{2 L_{i_{1}}\left(1-e^{-t}\right)}{t\left(e^{2 t}+1\right)} e^{x t+y t^{2}}=\frac{2 e^{x t+y t^{2}}}{e^{2 t}+1}=\sum_{n=0}^{\infty}{ }_{H} \mathcal{T}_{n}(x, y) \frac{t^{n}}{n!} \tag{30}
\end{equation*}
$$

By (61), we get

$$
{ }_{H} \mathcal{T}_{n}^{(1)}(x, y)={ }_{H} T_{n}(x, y) .
$$

Theorem 4.1. $n, k \in \mathbb{Z}_{+}$, we have

$$
\begin{equation*}
{ }_{H} \mathcal{T}_{n}^{(k)}(x, y)=\frac{1}{n+1} \sum_{m=0}^{\infty} \frac{1}{(m+1)^{k}} \sum_{j=0}^{m+1}(-1)^{j}\binom{m+1}{j}{ }_{H} \mathcal{T}_{n+1}(x-j, y) . \tag{31}
\end{equation*}
$$

Proof. Consider

$$
\sum_{n=0}^{\infty}{ }_{H} \mathcal{T}_{n}^{(k)}(x, y) \frac{t^{n}}{n!}=2 \sum_{m=0}^{\infty} \frac{\left(1-e^{-t}\right)^{m+1}}{(m+1)^{k}} \frac{e^{x t+y t^{2}}}{t\left(e^{2 t}+1\right)}
$$

$$
\begin{aligned}
& =2 \sum_{m=0}^{\infty} \frac{1}{(m+1)^{k}} \sum_{j=0}^{m+1}(-1)^{j}\binom{m+1}{j} \frac{e^{-t j+x t+y t^{2}}}{t\left(e^{2 t}+1\right)} \\
& =\sum_{m=0}^{\infty} \frac{1}{(m+1)^{k}} \sum_{j=0}^{m+1}(-1)^{j}\binom{m+1}{j} \frac{1}{t} \frac{2}{e^{2 t}+1} e^{t(x-j)+y t^{2}} \\
& =\sum_{m=0}^{\infty} \frac{1}{(m+1)^{k}} \sum_{j=0}^{m+1}(-1)^{j}\binom{m+1}{j} \sum_{n=0}^{\infty}\left({ }_{H} \mathcal{T}_{n}(x-j, y)\right) \frac{t^{n-1}}{n!} \\
& =\sum_{m=0}^{\infty} \frac{1}{(m+1)^{k}} \sum_{j=0}^{m+1}(-1)^{j}\binom{m+1}{j} \sum_{n=-1}^{\infty} \frac{{ }_{H} \mathcal{T}_{n+1}(x-j, y)}{n+1} \frac{t^{n}}{n!} .
\end{aligned}
$$

Comparing the coefficients both sides, we have (62).
Theorem 4.2. There is the following relation between poly-tangent polynomials and the Stirling numbers of the second kind and the Hermite-based Bernoulli polynomials as

$$
\begin{equation*}
{ }_{H} \mathcal{T}_{n}^{(k)}(x, y)=\sum_{l=0}^{n} \frac{\binom{n}{l}}{\binom{l+r}{r}} S_{2}(l+r, r) \sum_{i=0}^{n-l}{ }_{H} \mathfrak{B}_{i}^{(r)}(x, y){ }_{H} \mathcal{T}_{n-l-i}^{(r)} . \tag{32}
\end{equation*}
$$

Proof. From (60), we write as

$$
\begin{aligned}
& \sum_{n=0}^{\infty}{ }_{H} \mathcal{T}_{n}^{(k)}(x, y) \frac{t^{n}}{n!}=\frac{2 L_{i_{k}}\left(1-e^{-t}\right)}{t\left(e^{2 t}+1\right)} e^{x t+y t^{2}} \\
&=\frac{\left(e^{t}-1\right)^{r}}{r!} \frac{r!}{t^{r}}\left(\frac{t}{e^{t}-1}\right)^{r} e^{x t+y t^{2}} \frac{2 L_{i_{k}}\left(1-e^{-t}\right)}{t\left(e^{2 t}+1\right)} \\
&= \frac{\left(e^{t}-1\right)^{r}}{r!}\left(\sum_{n=0}^{\infty} H_{B_{n}} \mathfrak{B}_{n}^{(r)}(x, y) \frac{t^{n}}{n!}\right)\left(\sum_{q=0}^{\infty}{ }_{H} \mathcal{T}_{q}^{(r)} \frac{t^{q}}{q!}\right) \frac{r!}{t^{r}} \\
&=\sum_{n=0}^{\infty}\left(\sum_{l=0}^{n} \frac{\binom{n}{l}}{\binom{l+r}{r}} S_{2}(l+r, r) \sum_{i=0}^{n-l} H_{i}^{(r)}(x, y){ }_{H} \mathcal{T}_{n-l-i}^{(r)}\right) \frac{t^{n}}{n!} .
\end{aligned}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$, we obtain (63).
Theorem 4.3. There is the following relation between the poly-tangent polynomials, the poly-Genocchi numbers and the Hermite-based tangent polynomials

$$
\begin{equation*}
{ }_{H} \mathcal{T}_{n}^{(k)}(x, y)=\frac{1}{2} \sum_{p=0}^{n}\binom{n}{p} G_{n-p}^{(k)}\left\{{ }_{H} \mathcal{T}_{n}(x+1, y)+{ }_{H} \mathcal{T}_{n}(x, y)\right\} . \tag{33}
\end{equation*}
$$

Proof. From (60) and (49)

$$
\sum_{n=0}^{\infty}{ }_{H} \mathcal{T}_{n}^{(k)}(x, y) \frac{t^{n}}{n!}=\frac{2 L_{i_{k}}\left(1-e^{-t}\right)}{t\left(e^{2 t}+1\right)} e^{x t+y t^{2}}
$$

$$
\begin{aligned}
& =\frac{1}{2}\left(\frac{2 L_{i_{k}}\left(1-e^{-t}\right)}{e^{t}+1}\right) \frac{2\left(e^{t}+1\right) e^{x t+y t^{2}}}{t\left(e^{2 t}+1\right)} \\
& =\frac{1}{2} \frac{2 L_{i_{k}}\left(1-e^{-t}\right)}{e^{t}+1}\left(\frac{2 e^{(x+1) t+y t^{2}}}{t\left(e^{2 t}+1\right)}+\frac{2 e^{x t+y t^{2}}}{t\left(e^{2 t}+1\right)}\right) \\
& =\frac{1}{2} \sum_{n=0}^{\infty} G_{n}^{(k)} \frac{t^{n}}{n!}\left\{\sum_{p=0}^{\infty}{ }_{H} \mathcal{T}_{p}(x+1, y)+{ }_{H} \mathcal{T}_{p}(x, y) \frac{t^{p}}{p!}\right\}
\end{aligned}
$$

Comparing the coefficients of both sides, we have (64).
The Bernoulli polynomials $B_{n}^{(r)}(x)$ of order $\alpha$, the Euler polynomials $E_{n}^{(r)}(x ; \lambda)$ of order $\alpha$ and the Genocchi polynomials $G_{n}^{(r)}(x ; \lambda)$ of order $\alpha$ are defined as respectively:

$$
\begin{align*}
& \left(\frac{t}{e^{t}-1}\right)^{r} e^{x t}=\sum_{n=0}^{\infty} B_{n}^{(r)}(x) \frac{t^{n}}{n!},|t|<2 \pi  \tag{34}\\
& \left(\frac{2}{e^{t}+1}\right)^{r} e^{x t}=\sum_{n=0}^{\infty} E_{n}^{(r)}(x) \frac{t^{n}}{n!},|t|<\pi \tag{35}
\end{align*}
$$

and

$$
\begin{equation*}
\left(\frac{2 t}{e^{t}+1}\right)^{r} e^{x t}=\sum_{n=0}^{\infty} G_{n}^{(r)}(x) \frac{t^{n}}{n!},|t|<\pi \tag{36}
\end{equation*}
$$

When $x=0, B_{n}^{(r)}(0)=B_{n}^{(r)}, E_{n}^{(r)}(0)=E_{n}^{(r)}$ and $G_{n}^{(r)}(0)=G_{n}^{(r)}$ are called Bernoulli numbers of order $r$, Euler numbers of order $r$ and Genocchi numbers of order $r$, respectively.

The familiar tangent polynomials $T_{n}^{(r)}(x)$ of order $r$ are defined by the generating functions ([12]-[15], [17])

$$
\begin{equation*}
\left(\frac{2}{e^{2 t}+1}\right)^{r} e^{x t}=\sum_{n=0}^{\infty} T_{n}^{(r)}(x) \frac{t^{n}}{n!},|2 t|<\pi \tag{37}
\end{equation*}
$$

When $x=0, T_{n}^{(r)}(0)=T_{n}^{(r)}$ are called the tangent numbers.
2 -variable Hermite-Kampéde Fériet polynomials are defined in ([5], [11]) as

$$
\begin{equation*}
\sum_{n=0}^{\infty} H_{n}(x, y) \frac{t^{n}}{n!}=e^{x t+y t^{2}} \tag{38}
\end{equation*}
$$

Khan et al. in [5] defined and studied on Hermite-based Bernoulli polynomials and Hermite-based Euler polynomials as

$$
\begin{equation*}
\sum_{n=0}^{\infty}{ }_{H} \mathcal{B}_{n}(x, y) \frac{t^{n}}{n!}=\frac{t}{e^{t}-1} e^{x t+y t^{2}},|t|<2 \pi \tag{39}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{n=0}^{\infty}{ }_{H} \mathcal{E}_{n}(x, y) \frac{t^{n}}{n!}=\frac{2}{e^{t}+1} e^{x t+y t^{2}},|t|<\pi \tag{40}
\end{equation*}
$$

respectively.

Carlitz in [1] defined degenerate Bernoulli polynomials which are given by the generating function to be

$$
\begin{equation*}
\frac{t}{(1+\lambda t)^{1 / \lambda}-1}(1+\lambda t)^{x / \lambda}=\sum_{n=0}^{\infty} \mathfrak{B}_{n}(x \mid \lambda) \frac{t^{n}}{n!} \tag{41}
\end{equation*}
$$

When $x=0, \mathfrak{B}_{n}(\lambda)=\mathfrak{B}_{n}(0 \mid \lambda)$ are called the degenerate Bernoulli numbers.
From (41), we can easily derive the following equation

$$
\mathfrak{B}_{n}(x \mid \lambda)=\sum_{l=0}^{n}\binom{n}{l} \mathfrak{B}_{n-l}(\lambda)(x \mid \lambda)_{l}, n \geq 0
$$

where $(x \mid \lambda)_{n}=x(x-\lambda) \cdots(x-\lambda(n-1))$ and $(x \mid \lambda)_{n}=1$.
Dolgy et. al. [2] defined the modified degenerate Bernoulli polynomials, which are different from Carlitz's degenerate Bernoulli polynomials as

$$
\begin{equation*}
\frac{t}{(1+\lambda)^{t / \lambda}-1}(1+\lambda)^{x t / \lambda}=\sum_{n=0}^{\infty} \mathfrak{B}_{n, \lambda}(x) \frac{t^{n}}{n!} \tag{42}
\end{equation*}
$$

When $x=0, \mathfrak{B}_{n, \lambda}=\mathfrak{B}_{n, \lambda}(0)$ are called the modified degenerate Bernoulli numbers. From (42) we note that

$$
\begin{align*}
\lim _{\lambda \rightarrow 0} \sum_{n=0}^{\infty} \mathfrak{B}_{n, \lambda}(x) \frac{t^{n}}{n!} & =\lim _{\lambda \rightarrow 0} \frac{t}{(1+\lambda)^{t / \lambda}-1}(1+\lambda)^{x t / \lambda} \\
& =\frac{t}{e^{t}-1} e^{x t}=\sum_{n=0}^{\infty} B_{n}(x) \frac{t^{n}}{n!} \tag{43}
\end{align*}
$$

Thus, by (43)

$$
\lim _{\lambda \rightarrow 0} \mathfrak{B}_{n, \lambda}(x)=B_{n}(x)
$$

H.-In Known et. al. [8] defined the modified degenerate Euler polynomials as

$$
\begin{equation*}
\frac{2}{(1+\lambda)^{t / \lambda}+1}(1+\lambda)^{x t / \lambda}=\sum_{n=0}^{\infty} \mathfrak{E}_{n, \lambda}(x) \frac{t^{n}}{n!} \tag{44}
\end{equation*}
$$

and T. Kim et. al. in [6] defined the modified degenerate Genocchi polynomials as

$$
\begin{equation*}
\frac{2 t}{(1+\lambda)^{t / \lambda}+1}(1+\lambda)^{t x / \lambda}=\sum_{n=0}^{\infty} \mathfrak{G}_{n, \lambda}(x) \frac{t^{n}}{n!} \tag{45}
\end{equation*}
$$

From (44) and (45), we get

$$
\lim _{\lambda \rightarrow 0} \mathfrak{E}_{n, \lambda}(x)=E_{n}(x), \lim _{\lambda \rightarrow 0} \mathfrak{G}_{n, \lambda}(x)=G_{n}(x)
$$

For $k \in \mathbb{Z}, k>1$, then $k$-th polylogarithm is defined by Kaneko [4] as

$$
\begin{equation*}
L_{i_{k}}(z)=\sum_{n=1}^{\infty} \frac{z^{n}}{n^{k}} \tag{46}
\end{equation*}
$$

Thus this function is convergent for $|z|<1$, when $k=1$

$$
\begin{equation*}
L_{i_{1}}(z)=-\log (1-z) \tag{47}
\end{equation*}
$$

Kim et. al. in [7] defined the poly-Bernoulli polynomials and the poly-Genocchi polynomials as

$$
\begin{equation*}
\sum_{n=0}^{\infty} \mathfrak{B}_{n}^{(k)}(x) \frac{t^{n}}{n!}=\frac{L_{i_{k}}\left(1-e^{-t}\right)}{1-e^{-t}} e^{x t} \tag{48}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{n=0}^{\infty} \mathfrak{G}_{n}^{(k)}(x) \frac{t^{n}}{n!}=\frac{2 L_{i_{k}}\left(1-e^{-t}\right)}{e^{t}+1} e^{x t} \tag{49}
\end{equation*}
$$

respectively.
For $k=1$, by use (47) in (48) and (49), we get

$$
\mathfrak{B}_{n}^{(1)}(x)=(-1)^{n+1} B_{n}(x), \mathfrak{G}_{n}^{(1)}(x)=G_{n}(x)
$$

Hamahata [3] defined poly-Euler polynomials by

$$
\sum_{n=0}^{\infty} \mathfrak{E}_{n}^{(k)}(x) \frac{t^{n}}{n!}=\frac{2 L_{i_{k}}\left(1-e^{-t}\right)}{t\left(e^{t}+1\right)} e^{x t}
$$

For $k=1$, we get $\mathfrak{E}_{n}^{(1)}(x)=E_{n}(x)$.
From (37), we obtain the following equalities easily

$$
\begin{aligned}
T_{n}^{(r)}(x) & =\sum_{k=0}^{n}\binom{n}{k} T_{k}^{(r)} x^{n-k}, \\
T_{n}^{(r)}(x+y) & =\sum_{l=0}^{k}\binom{k}{l} T_{k}^{(r)}(x) y^{k-l}, \\
T_{n}^{\left(r_{1}+r_{2}\right)}(x+y) & =\sum_{k=0}^{n}\binom{n}{k} T_{k}^{\left(r_{1}\right)}(x) T_{n-k}^{\left(r_{2}\right)}(y)
\end{aligned}
$$

and

$$
T_{n}^{(r)}(2(x+1))=2 T_{n}^{(r-1)}(2 x)
$$

## 5. Hermite Based Tangent Polynomials

Khan et. al. in [5] and Ozarslan [11] introduced and investigated the Hermite-based Bernoulli polynomials and Hermite-based Euler polynomials. They proved some identities and relations for these polynomials.

By this motivation, we define Hermite-based Tangent polynomials of order $r$ as

$$
\begin{equation*}
\sum_{n=0}^{\infty} H_{n}^{(r)}(x, y) \frac{t^{n}}{n!}=\left(\frac{2}{e^{2 t}+1}\right)^{r} e^{x t+y t^{2}} \tag{50}
\end{equation*}
$$

Theorem 5.1. Let $r_{1}, r_{2} \in \mathbb{Z}_{+}$. We have

$$
\begin{aligned}
{ }_{H} T_{n}^{(r)}(x, y) & =\sum_{k=0}^{n}\binom{n}{k} T_{k}^{(r)}(0,0) H_{n-k}(x, y), \\
{ }_{H} T_{n}^{(r)}(x+u, y+v) & =\sum_{k=0}^{n}\binom{n}{k}{ }_{H} T_{k}^{(r)}(x, y) H_{n-k}(u, v)
\end{aligned}
$$

and

$$
{ }_{H} T_{n}^{\left(r_{1}+r_{2}\right)}(x+u, y+v)=\sum_{k=0}^{n}\binom{n}{k}{ }_{H} T_{k}^{\left(r_{1}\right)}(x, y)_{H} T_{n-k}^{\left(r_{2}\right)}(u, v)
$$

Theorem 5.2. Let $r \in \mathbb{Z}_{+}$. Then we obtain

$$
{ }_{H} T_{n}^{(r)}(2(x+u), 2(y+v))=\sum_{m=0}^{n}\binom{n}{m}{ }_{H} T_{n-m}^{(r)}(x, y) \sum_{p=0}^{m}\binom{m}{p} H_{p}(x, y) H_{m-p}(x, y)
$$

Theorem 5.3. There is the following implicit relation for the Hermite-based Tangent polynomials as

$$
\begin{equation*}
{ }_{H} T_{n+m}^{(r)}(u, v)=\sum_{p=0}^{n}\binom{n}{p} \sum_{q=0}^{m}\binom{m}{q}(v-y)^{p+q}{ }_{H} T_{n+m-p-q}^{(r)}(x, y) . \tag{51}
\end{equation*}
$$

Proof. From (50), we replace $t$ by $t+u$ and rewrite the generating function as

$$
\frac{2 e^{y(t+u)^{2}}}{e^{2 t}+1}=e^{-x(t+u)} \sum_{n=0}^{\infty} T_{n+m}^{(r)}(x, y) \frac{t^{n}}{n!} \frac{u^{m}}{m!}
$$

Replacing $x$ by $v$ in the above equation to the above equation, we get

$$
\sum_{n, m=0}^{\infty}{ }_{H} T_{n+m}^{(r)}(v, y) \frac{t^{n}}{n!} \frac{u^{m}}{m!}=e^{(t+u)(v-x)} \sum_{n, m=0}^{\infty} H_{n+m}^{(r)}(x, y) \frac{t^{n}}{n!} \frac{u^{m}}{m!}
$$

which on using formula [19, Srivastava p. 52]

$$
\begin{equation*}
\sum_{N=0}^{\infty} f(N) \frac{(x+y)^{N}}{N!}=\sum_{n, m=0}^{\infty} f(n+m) \frac{x^{n}}{n!} \frac{y^{m}}{m!} \tag{52}
\end{equation*}
$$

The right hand side on (52) becomes

$$
\begin{aligned}
& \sum_{p=0}^{\infty} \sum_{q=0}^{\infty}(v-x)^{p+q} \frac{t^{p}}{p!} \frac{u^{q}}{q!} \sum_{n=0}^{\infty} \sum_{m=0}^{\infty}{ }_{H} T_{n+m}^{(r)}(x, y) \frac{t^{n}}{n!} \frac{u^{m}}{m!} \\
= & \sum_{n, m=0}^{\infty}{ }_{H} T_{n+m}^{(r)}(v, y) \frac{t^{n}}{n!} \frac{u^{m}}{m!} .
\end{aligned}
$$

By using Cauchy product and comparing the coefficients of both sides, we have (51).
Theorem 5.4. There is the following relation between the Hermite-based Tangent polynomials and the Hermite-based Bernoulli polynomials as

$$
\begin{equation*}
{ }_{H} \mathfrak{B}_{n}^{(r)}\left(\frac{x+u}{4}, \frac{y+v}{16}\right)=2^{r-n-k} \sum_{k=0}^{n}\binom{n}{k}{ }_{H} T_{k}^{(r)}(x, y)_{H} \mathfrak{B}_{n-k}^{(r)}\left(\frac{u}{2}, \frac{v}{4}\right) \tag{53}
\end{equation*}
$$

Proof. From (50), we obtain

$$
\begin{gathered}
\sum_{n=0}^{\infty} H \mathfrak{B}_{n}^{(r)}\left(\frac{x+u}{4}, \frac{y+v}{16}\right) \frac{(4 t)^{n}}{n!}=\left(\frac{2 \times 4 t}{e^{4 t}-1}\right)^{(r)} e^{(x+u) t+(y+v) t^{2}} \\
=\left(\frac{2}{e^{2 t}+1}\right)^{(r)} e^{x t+y t^{2}} 2^{r}\left(\frac{2 t}{e^{2 t}-1}\right)^{(r)} e^{u t+v t^{2}} \\
=\sum_{n=0}^{\infty} H T_{n}^{(r)}(x, y) \frac{t^{n}}{n!} 2^{r} \sum_{q=0}^{\infty} H^{\infty} \mathfrak{B}_{q}^{(r)}\left(\frac{u}{2}, \frac{v}{4}\right) \frac{(2 t)^{n}}{n!}
\end{gathered}
$$

By using Cauchy product and comparing the coefficients of both sides. We get (53).

## 6. Modified Degenerate Hermite-Based Tangent Polynomials

Dolgy et. al. [2] introduced and investigated the modified degenerate Bernoulli polynomials. Known et. al. [8] defined and investigated the modified degenerate Euler polynomials. They proved some properties for these polynomials.

By these motivations, we define 2-variable fully degenerate Hermite polynomials and the fully degenerate Hermite-based Tangent polynomials of order $r$

$$
\begin{equation*}
\sum_{n=0}^{\infty} H_{n}(x, y: \lambda) \frac{t^{n}}{n!}=(1+\lambda)^{\frac{x t+y t^{2}}{\lambda}} \tag{54}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{n=0}^{\infty} H T_{n}^{(r)}(x, y: \lambda) \frac{t^{n}}{n!}=\left(\frac{2}{(1+\lambda)^{\frac{2 t}{\lambda}}+1}\right)^{r}(1+\lambda)^{\frac{x t+y t^{2}}{\lambda}} \tag{55}
\end{equation*}
$$

respectively.
From (54) and (55), we get

$$
\lim _{\lambda \longrightarrow 0} H_{n}(x, y: \lambda)=H_{n}(x, y), \lim _{\lambda \longrightarrow 0} H_{n}^{(r)}(x, y: \lambda)={ }_{H} T_{n}^{(r)}(x, y)
$$

Similiary, we define the fully Hermite-based Bernoulli poynomials and the fully Hermitebased Euler polynomials as

$$
\begin{equation*}
\sum_{n=0}^{\infty} H \mathfrak{B}_{n}(x, y: \lambda) \frac{t^{n}}{n!}=\frac{t}{(1+\lambda)^{\frac{t}{\lambda}}-1}(1+\lambda)^{\frac{x t+y t^{2}}{\lambda}} \tag{56}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{n=0}^{\infty} H \mathfrak{E}_{n}(x, y: \lambda) \frac{t^{n}}{n!}=\frac{2}{(1+\lambda)^{\frac{t}{\lambda}}+1}(1+\lambda)^{\frac{x t+y t^{2}}{\lambda}} \tag{57}
\end{equation*}
$$

respectively.
From (55), we obtain the following relations easily

$$
\begin{gathered}
{ }_{H} T_{n}^{\left(r_{1}+r_{2}\right)}(x+u, y+v: \lambda)=\sum_{k=0}^{n}\binom{n}{k}{ }_{H} T_{k}^{\left(r_{1}\right)}(x, y: \lambda){ }_{H} T_{n-k}^{\left(r_{2}\right)}(u, v: \lambda) \\
H_{H} T_{n}^{(r)}(x, y: \lambda)=\sum_{k=0}^{n}\binom{n}{k}{ }_{H} T_{k}^{(r)}(0,0: \lambda) H_{n-k}(x, y: \lambda) \\
{ }_{H} T_{n}^{(r)}(x+2, y: \lambda)+{ }_{H} T_{n}^{(r)}(x, y: \lambda)=2{ }_{H} T_{n}^{(r-1)}(x, y: \lambda)
\end{gathered}
$$

for $r=1$,

$$
{ }_{H} T_{n}(x+2, y: \lambda)+{ }_{H} T_{n}(x, y: \lambda)=2 H_{n}(x, y: \lambda)
$$

and

$$
{ }_{H} T_{n}^{(r)}(x, y: \lambda)=\sum_{k=0}^{n}\binom{n}{k}{ }_{H} T_{n}^{(r)}\left(\frac{1}{2}, 0: \lambda\right) H_{n-k}\left(x-\frac{1}{2}, y: \lambda\right) .
$$

Theorem 6.1. There is the following relation between the fully degenerate Bernoulli polynomials, the fully degenerate Euler polynomials and the fully degenerate Tangent polynomials as

$$
\begin{align*}
& { }_{H} \mathfrak{B}_{n}(x, y: \lambda) 2^{2 n+1} \\
= & \sum_{q=0}^{n}\binom{n}{q}{ }_{H} T_{n-q}(x, y: \lambda) \sum_{k=0}^{q}\binom{q}{k} H_{H} \mathfrak{B}_{q-k}(x, y: \lambda) \\
& \cdot{ }_{H} \mathfrak{E}_{n}(2 x, 14 y: \lambda) . \tag{58}
\end{align*}
$$

Proof. From (56), (57) and (55), we write as

$$
\begin{aligned}
& \sum_{n=0}^{\infty} H^{\mathfrak{B}_{n}}(x, y: \lambda) \frac{(4 t)^{n}}{n!}=\left(\frac{4 t}{(1+\lambda)^{\frac{4 t}{\lambda}}-1}\right)(1+\lambda)^{\frac{4 t x+y(4 t)^{2}}{\lambda}} \\
= & \frac{1}{2} \frac{2 e^{\frac{x t+y t^{2}}{\lambda}}}{(1+\lambda)^{\frac{2 t}{\lambda}}+1} \frac{2 t e^{\frac{x t+y t^{2}}{\lambda}}}{(1+\lambda)^{\frac{t}{\lambda}}-1} \frac{2 e^{\frac{2 x t+14 y t^{2}}{\lambda}}}{(1+\lambda)^{\frac{t}{\lambda}}+1} \\
= & \frac{1}{2} \sum_{n=0}^{\infty} H T_{n}(x, y: \lambda) \frac{t^{n}}{n!} \sum_{p=0}^{\infty} H \mathfrak{B}_{p}(x, y: \lambda) \frac{t^{p}}{p!} \sum_{q=0}^{\infty} H \mathfrak{E}_{q}(2 x, 14 y: \lambda) \frac{t^{q}}{q!} .
\end{aligned}
$$

By using the Cauchy product and comparing the coefficient of $\frac{t^{n}}{n!}$, we have (58).
Theorem 6.2. $n \in \mathbb{Z}_{+}$, we have

$$
\begin{align*}
& { }_{H} T_{n}(x+2, y: \lambda)+{ }_{H} T_{n}(x, y: \lambda) \\
= & \frac{2}{n+1}\left\{{ }_{H} \mathfrak{B}_{n+1}(x+1, y: \lambda)-{ }_{H} \mathfrak{B}_{n+1}(x, y: \lambda)\right\} \tag{59}
\end{align*}
$$

Proof. By (55)

$$
\begin{gathered}
\frac{2 t(1+\lambda)^{\frac{x t+y t^{2}}{\lambda}}}{(1+\lambda)^{\frac{2 t}{\lambda}}+1}\left[(1+\lambda)^{\frac{2 t}{\lambda}}+1\right]=\frac{2 t(1+\lambda)^{\frac{x t+y t^{2}}{\lambda}}}{(1+\lambda)^{\frac{t}{\lambda}}-1}\left[(1+\lambda)^{\frac{t}{\lambda}}-1\right] \\
\frac{2 t(1+\lambda)^{\frac{(x+2) t+y t^{2}}{\lambda}}}{(1+\lambda)^{\frac{2 t}{\lambda}}+1}+\frac{2 t(1+\lambda)^{\frac{x t+y t^{2}}{\lambda}}}{(1+\lambda)^{\frac{2 t}{\lambda}}+1}=\frac{2 t(1+\lambda)^{\frac{(x+1) t+y t^{2}}{\lambda}}}{(1+\lambda)^{\frac{t}{\lambda}}-1}-\frac{2 t(1+\lambda)^{\frac{x t+y t^{2}}{\lambda}}}{(1+\lambda)^{\frac{t}{\lambda}}-1} \\
t \sum_{n=0}^{\infty}\left\{{ }_{H} T_{n}(x+2, y: \lambda)+{ }_{H} T_{n}(x, y: \lambda)\right\} \frac{t^{n}}{n!} \\
=2 \sum_{n=0}^{\infty}\left\{H_{H} \mathfrak{B}_{n}(x+1, y: \lambda)-{ }_{H} \mathfrak{B}_{n}(x, y: \lambda)\right\} \frac{t^{n}}{n!} .
\end{gathered}
$$

From the above equality we have (59).

## 7. Poly-Tangent Polynomials

In this section, we define the poly-tangent numbers and polynomials and provide some of their relevant properties.

Definition 7.1. We define the Hermite-based poly-tangent polynomials by

$$
\begin{equation*}
\frac{2 L_{i_{k}}\left(1-e^{-t}\right)}{t\left(e^{2 t}+1\right)} e^{x t+y t^{2}}=\sum_{n=0}^{\infty} H_{n}^{(k)}(x, y) \frac{t^{n}}{n!} \tag{60}
\end{equation*}
$$

when $x=0,{ }_{H} \mathcal{T}_{n}^{(k)}:={ }_{H} \mathcal{T}_{n}^{(k)}(0,0)$ are called the Hermite-based poly-tangent numbers.
For $k=1$ and $L_{i_{k}}(z)=-\log (1-z)$, from (60)

$$
\begin{equation*}
\frac{2 L_{i_{1}}\left(1-e^{-t}\right)}{t\left(e^{2 t}+1\right)} e^{x t+y t^{2}}=\frac{2 e^{x t+y t^{2}}}{e^{2 t}+1}=\sum_{n=0}^{\infty} H \mathcal{T}_{n}(x, y) \frac{t^{n}}{n!} \tag{61}
\end{equation*}
$$

By (61), we get

$$
{ }_{H} \mathcal{T}_{n}^{(1)}(x, y)={ }_{H} T_{n}(x, y)
$$

Theorem 7.1. $n, k \in \mathbb{Z}_{+}$, we have

$$
\begin{equation*}
{ }_{H} \mathcal{T}_{n}^{(k)}(x, y)=\frac{1}{n+1} \sum_{m=0}^{\infty} \frac{1}{(m+1)^{k}} \sum_{j=0}^{m+1}(-1)^{j}\binom{m+1}{j}{ }_{H} \mathcal{T}_{n+1}(x-j, y) . \tag{62}
\end{equation*}
$$

Proof. Consider

$$
\begin{aligned}
& \sum_{n=0}^{\infty}{ }_{H} \mathcal{T}_{n}^{(k)}(x, y) \frac{t^{n}}{n!}=2 \sum_{m=0}^{\infty} \frac{\left(1-e^{-t}\right)^{m+1}}{(m+1)^{k}} \frac{e^{x t+y t^{2}}}{t\left(e^{2 t}+1\right)} \\
= & 2 \sum_{m=0}^{\infty} \frac{1}{(m+1)^{k}} \sum_{j=0}^{m+1}(-1)^{j}\binom{m+1}{j} \frac{e^{-t j+x t+y t^{2}}}{t\left(e^{2 t}+1\right)} \\
= & \sum_{m=0}^{\infty} \frac{1}{(m+1)^{k}} \sum_{j=0}^{m+1}(-1)^{j}\binom{m+1}{j} \frac{1}{t} \frac{2}{e^{2 t}+1} e^{t(x-j)+y t^{2}} \\
= & \sum_{m=0}^{\infty} \frac{1}{(m+1)^{k}} \sum_{j=0}^{m+1}(-1)^{j}\binom{m+1}{j} \sum_{n=0}^{\infty}\left(H \mathcal{T}_{n}(x-j, y)\right) \frac{t^{n-1}}{n!} \\
= & \sum_{m=0}^{\infty} \frac{1}{(m+1)^{k}} \sum_{j=0}^{m+1}(-1)^{j}\binom{m+1}{j} \sum_{n=-1}^{\infty} \frac{H \mathcal{T}_{n+1}(x-j, y)}{n+1} \frac{t^{n}}{n!} .
\end{aligned}
$$

Comparing the coefficients both sides, we have (62).
Theorem 7.2. There is the following relation between poly-tangent polynomials and the Stirling numbers of the second kind and the Hermite-based Bernoulli polynomials as

$$
\begin{equation*}
{ }_{H} \mathcal{T}_{n}^{(k)}(x, y)=\sum_{l=0}^{n} \frac{\binom{n}{l}}{\binom{l+r}{r}} S_{2}(l+r, r) \sum_{i=0}^{n-l} H \mathfrak{B}_{i}^{(r)}(x, y)_{H} \mathcal{T}_{n-l-i}^{(r)} \tag{63}
\end{equation*}
$$

Proof. From (60), we write as

$$
\begin{aligned}
\sum_{n=0}^{\infty} H \mathcal{T}_{n}^{(k)}(x, y) \frac{t^{n}}{n!} & =\frac{2 L_{i_{k}}\left(1-e^{-t}\right)}{t\left(e^{2 t}+1\right)} e^{x t+y t^{2}} \\
& =\frac{\left(e^{t}-1\right)^{r}}{r!} \frac{r!}{t^{r}}\left(\frac{t}{e^{t}-1}\right)^{r} e^{x t+y t^{2}} \frac{2 L_{i_{k}}\left(1-e^{-t}\right)}{t\left(e^{2 t}+1\right)} \\
= & \frac{\left(e^{t}-1\right)^{r}}{r!}\left(\sum_{n=0}^{\infty} H \mathfrak{B}_{n}^{(r)}(x, y) \frac{t^{n}}{n!}\right)\left(\sum_{q=0}^{\infty} H \mathcal{T}_{q}^{(r)} \frac{t^{q}}{q!}\right) \frac{r!}{t^{r}} \\
= & \sum_{n=0}^{\infty}\left(\sum_{l=0}^{n} \frac{\binom{n}{l}}{\binom{l+r}{r}} S_{2}(l+r, r) \sum_{i=0}^{n-l} H \mathfrak{B}_{i}^{(r)}(x, y) H_{n} \mathcal{T}_{n-l-i}^{(r)}\right) \frac{t^{n}}{n!}
\end{aligned}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$, we obtain (63).
Theorem 7.3. There is the following relation between the poly-tangent polynomials, the poly-Genocchi numbers and the Hermite-based tangent polynomials

$$
\begin{equation*}
{ }_{H} \mathcal{T}_{n}^{(k)}(x, y)=\frac{1}{2} \sum_{p=0}^{n}\binom{n}{p} G_{n-p}^{(k)}\left\{{ }_{H} \mathcal{T}_{n}(x+1, y)+{ }_{H} \mathcal{T}_{n}(x, y)\right\} \tag{64}
\end{equation*}
$$

Proof. From (60) and (49)

$$
\begin{aligned}
& \sum_{n=0}^{\infty}{ }_{H} \mathcal{T}_{n}^{(k)}(x, y) \frac{t^{n}}{n!}=\frac{2 L_{i_{k}}\left(1-e^{-t}\right)}{t\left(e^{2 t}+1\right)} e^{x t+y t^{2}} \\
= & \frac{1}{2}\left(\frac{2 L_{i_{k}}\left(1-e^{-t}\right)}{e^{t}+1}\right) \frac{2\left(e^{t}+1\right) e^{x t+y t^{2}}}{t\left(e^{2 t}+1\right)} \\
= & \frac{1}{2} \frac{2 L_{i_{k}}\left(1-e^{-t}\right)}{e^{t}+1}\left(\frac{2 e^{(x+1) t+y t^{2}}}{t\left(e^{2 t}+1\right)}+\frac{2 e^{x t+y t^{2}}}{t\left(e^{2 t}+1\right)}\right) \\
= & \frac{1}{2} \sum_{n=0}^{\infty} G_{n}^{(k)} \frac{t^{n}}{n!}\left\{\sum_{p=0}^{\infty} H_{p} \mathcal{T}_{p}(x+1, y)+{ }_{H} \mathcal{T}_{p}(x, y) \frac{t^{p}}{p!}\right\} .
\end{aligned}
$$

Comparing the coefficients of both sides, we have (64).

## 8. Acknowledgement

The present investigation has been supported by the Scientific Research Project Administration of Akdeniz University.

## References

[1] Carlitz, L., (1979), Degenerate Stirling Bernoulli and Eulerian numbers, Util. Math., 15, pp. 51-88.
[2] Dolgy, D. V., Kim, T., Known, H.-In and Seo, J. J., (2016), On the modified degenerate Bernoulli polynomials, Advanced Studies in Contempt. Math., 26, pp. 203-209.
[3] Hamahata, Y., (2014), Poly-Euler polynomials and Arakawa-Kaneko type zeta functions, Functiones et Approximation Commentari Math., 51(1), pp. 7-22.
[4] Kaneko, M., (1999), Poly-Bernoulli numbers, J. Théor. Nr. Bordx, 9, pp. 199-206.
[5] Khan, S., Yasmin, G., Khan, R., and Hassan, N. A., (2009), Hermite-based Appell polynomials: Properties and applications, J. of Math. Anal. and Appl., 351, pp. 756-764.
[6] Kim, T., Kim, D. S., and Known, H.-In, (2016), Some identities relating to degenerate Bernoulli polynomials, Filomat, (30)4, pp. 905-912.
[7] Kim, T., Jang, V. S. and Seo, J. J., (2014), A note on poly-Genocchi numbers and polynomials, Appl. Math. Sci., 8 (96), pp. 4775-4781.
[8] Known, H.-In, Kim, T. and Seo, J. J., (2016), Modified degenerate Euler polynomials, Advanced Studies in Contemp. Math., 26(1), pp. 1-9.
[9] Liu, H. and Wang, W., (2009), Some identities on the Bernoulli, Euler and Genocchi polynomials via power sum and alternate power sums, Discrete Math., 309, pp. 3346-3363.
[10] Luo, M.-Q., (2009), The multiplication formulas for the Apostol-Bernoulli and Apostol-Euler polynomials of higher order, Integral Trans. Spec. Func., 20, pp. 337-391.
[11] Ozarslan, M. A., (2013), Hermite-based unified Apostol-Bernoulli, Euler and Genocchi polynomials, Advances in Diff. Equa., 2013.2013:116.
[12] Ryoo, C. S., (2013), A note on the Tangent numbers and polynomials, Adv. Stud. Theo. Phys., 7(9), pp. 447-454.
[13] Ryoo, C. S., (2017), On degenerate Carlitz's type $q$-Tangent numbers and polynomials associated with $p$-adic $q$-integral on $\mathbb{Z}_{p}$, App. Math. Sci., 11(48), pp. 2367-2375.
[14] Ryoo, C. S., (2017), Symmetric identities for degenerate ( $h, q$ )-Tangent polynomials associated with the p-adic integral on $\mathbb{Z}_{p}$, Int. J. of Math. Anal., 11(8), pp. 353-362.
[15] Ryoo, C. S. and Agarwal, R. P., (2017), Some identities involving $q$-poly-Tangent numbers and polynomials and distribution of their zeros, Advences in Diff. Equa., 2017.2013.
[16] Son, J.-W. and Kim, M.-S., (1996), On poly-Eulerian numbers, Bull. Korean Math. Soc., 36, pp. 47-61.
[17] Shin, H. and Zeng, J., (2010), The $q$-Tangent and $q$-secant numbers via continued fractions, European J. of Combinatorics, 31(7), pp. 1689-1705.
[18] Srivastava, H. M., (2011), Some generalization and basic (or $-q$ ) extension of the Bernoulli, Euler and Genocchi polynomials, App. Math. and Infor. Sci., 5(3), pp. 390-444.
[19] Srivastava, H. M. and Manocha, H. L., (1984), A treatise on generating functions, John-Willey and Soc., (1984), New York-Toronto.
[20] Young, P. T., (2008), Degenerate Bernoulli polynomials, generalized factorial sums and their application, J. of Number Theory, 128, pp. 738-758.


Dr. Burak KURT graduated from Department of Mathematics, Akdeniz University, Antalya, Turkey. Recently, he has joined to the Department of Mathematics, Akdeniz University of Education, Antalya TURKEY. His research interests are pure and applied mathematics including special functions, generating function, q-series and q-polynomials, theory of ( $\mathrm{p}, \mathrm{q}$ )-calculus, padic analysis and analytic number theory, Hermite polynomials etc.


[^0]:    Department of Mathematics, Faculty of Educations University of Akdeniz, TR-07058 Antalya, Turkey. e-mail: burakkurt@akdeniz.edu.tr; ORCID: https://orcid.org/0000-0003-3275-4643.
    § Manuscript received: January 22, 2018; accepted: May 9, 2018. TWMS Journal of Applied and Engineering Mathematics, Vol.10, No. 2 © Issık University, Department of Mathematics, 2020; all rights reserved.

